PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

25th July 2016, 09:00 AM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

fFafafad vy & e adfe w0 ¥ =] @ SrawT B3 iR 39U a1g 9 foy v fawen A @ 9 Suge
SIHH BT ITT Py
1. Key 2. Door 3.Lock 4. Room 5.Switch On

1. A1t 2. g@Te 3. 91T 4. FE 5. f&Gw @aAn
* 1,2,3,4,5
e 1,3,2,4,5
°* 421,53
e 51,243
Correct Answer :-1,3,2,4,5
2)
Question Stimulus :-

The Ministry of is primarily concerned with the Administration of Companies Act. / ___ HATad

BT U F Ut fuf~aw & u=ma- 3 Jefe 81
® Micro, small and Medium Enterprises / &H, o4 3R Teay ST
® Corporate Affairs / IBUIECEIE
® Commerce and Industry / oSy 3R ST
® Heavy Industries and Public Enterprises / YR T 3R Ardwif~ie e

Correct Answer :-Corporate Affairs / RIS ATHSA

3)

Question Stimulus :-

()



Sushil’s room is at left from my room and Puneet’s room is at my right. If Pankaj lives in front of me, then Puneet is at
___of Pankaj. / RIEI BT HHRT A HAY A 1T TP g 3R Td BT HHT A SIfiga a*& 81 afe dver A
AT g1 8 a1 Tild Upol _ H b ¢l

* Left/dTU

° Front/'\‘lTFﬁ

* Right/gIfe

e Back/W®
Correct Answer :-Left / dT¢
4)
Question Stimulus :-

If laptop implies a cheerful day, but its lousy today, then it's a laptop. / gf¢ AUeTg &1
Hdad GRETd o €, Afep ol 9gd W19 o1 8, 91 98 Us dueru gl

* True / 9!
* False / T&qd
e Maybe / B 9&dT &
e Irrelevant / T RIH
Correct Answer :-False / dd
5)
Question Stimulus :-
“White Tiger Territory” is another name for___ ./"®IgC CITR &aF P QT AH %,_I
® Chambal / Idq
e Shivpuri/ REgd
* Bandhavgarh / TIYTTE
® Kanha / bIgl
Correct Answer :-Bandhavgarh / Si4dT¢
6)

Question Stimulus :-

©)



Identify the odd one out? / faTH Uga :
® Amartya Sen / 3/ I
® Rabindranath Tagore / TAI-&-TY SR
® Mother Teresa / HGR a¥dl
e Mahatma Gandhi / #gren mish
Correct Answer :-Mahatma Gandhi / #grer mich
7)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / d% fa®eu gfFQ
ol fau T HY=T vd fAeeul & 9N | 981 2

Statements: / $Y:

All bangles are round / I gf3ai Ma &

Some rings are bangles / $9 3F[f&4i gfeui §
Conclusions: / ssd:

I. All round bangles are rings / I. 99 T f3ar sipfear §
I1. Some rings are round / II. $3 3f&ai Ma &

® Only conclusion | follows / Wﬁ'&'ﬁﬂf I freadn %

® Only conclusion Il follows / Wﬁ'ﬁ& nferpedn %

® Both conclusion | and Il follows /E‘ﬁ‘ﬁ forepd 1 ik 11 e %

® None of the conclusion l or Il follows/ﬁ'wﬂf IGTII® ﬁ' aﬁ_ﬁ; 7-|€f Freaar %
Correct Answer :-Only conclusion Il follows / Fad ey 1fSeadr %

8)
Question Stimulus :-

SAIL was established in J I o TiAd fopaT T ATl

® 1974

® 1984

(4)



® 1990

® 1964
Correct Answer :-1974
9)

Question Stimulus :-

‘Card board’ is related to ‘opaque’ in the same way as ‘glass’ is related to / ‘Preas’ el %
R T I TER A o e ‘T J&fa § v

® Brittle / -ITYP

® Lustrous / JHPIAT

® Glossy / IECEI

® Transparent / tl'mﬁ

Correct Answer :-Transparent / UIRGRIf

10)
Question Stimulus :-

Ajanta caves are located in in Maharashtra./ 3[Sidl 'ﬂTFI'a mﬁ_ﬁ e %I
® Aurangabad / NS
® Pune/ Hﬁ
® Mumbai / 'ﬂ—crﬁ;
® Nagpur / "dRTYY
Correct Answer :-Aurangabad / 3{RITETG

11)
Question Stimulus :-

Who is better known as “Lok Nayak”? / "@& ATd®" & U H fHgH! ST SITdT 82
® Karpoori Thakur / 37@ STPR
® Ram Manohar Lohia / ITH 'FFI-TER' 'ﬁ-ﬁ%’iﬂ

® Jayaprakash Narayan / STHU®PTR FIRTAUT
®)



® Lal Bhahadur Shastri / ¢lTcf delgy AT
Correct Answer :-Jayaprakash Narayan / STOUBIRI ARTAUT
12)
Question Stimulus :-
Who compiled the Adi Granth? / 3MTf¢ Uy &1 Hpe fora- forar?
® Guru Ramdas /¥ IMHQ™
¢ Guru Nanak / T&aF®
® Guru Amardas /¥ HIQ
® Guru Arjun Dev /= W <d

Correct Answer :-Guru Arjun Dev / T 39 ¢d

13)

Question Stimulus :-
Which of these universities is NOT located in Bhopal? / 1 ﬁ"&'ﬁ?]'lﬁ?ﬂ o ﬁ ﬁ:l 'Lfrqm 3 | IE3IG] :lﬁ %?
® Barkatullah University / dXddccile fayfoeme
® Rajeev Gandhi Technical University / Ireita M e fayfaemea
® Rani Durgavati University / I Q‘Tl'h?ﬁ ﬁ%ﬁm@
® Raja Bhoj Open University / 36l Uier 3fiu= fayfaemea
Correct Answer :-Rani Durgavati University / IT-I giliad fayfaemea

14)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg oo ﬂﬁl‘t{
o fow T Hu=Y wd Frewef & TR o WEt 21

Statements: / $YA:

All trees are shrubs / I Us Fnfeai §
Some plants are trees / $9 qreY ﬁ?; g
Conclusions: / e

(6)



I. Some plants are shrubs / I.$9 U0 QT%TII%
II. Some plants are not shrubs / II. $& W% gnfeai 7 &

® Only conclusion | follows / Fad ey 1 fAeaar %

® Only conclusion Il follows / Wﬁvﬁﬂf i frean %

® Both conclusion | and Il foIIows/EﬂTﬁ foreed 1 Gﬁ? 11 frped %

® None of the conclusion | or Il follows /ﬁ"ﬂﬂf IGTIIA A aﬁ‘é qﬁ o %
Correct Answer :-Only conclusion I follows / Sad fsey 1 fAadar %
15)
Question Stimulus :-

CANCELLED

How many members earn less than the doctor? / mﬁm B 3T Sidey A HH %?
e Two / a
e Three / H
* Four /dR
* Five / Ulg
Correct Answer :-Five / Ufd
16)

Question Stimulus :-

Anitha, Mahima, Rajan, Latha and Deepti are five cousins. Anitha is twice as old as
Mahima. Rajan is half the age of Mahima. Anitha is half the age of Deepti and Rajan is

twice the age of Latha. / 3ifSur,afgdr, 3o ,@ur ok Siud) ute ==RY T8+ &1 3rfrur, afear 4 39 &
gu-—ﬂae’r%r\rmﬁwm%mﬁamﬁ%l fyr it 37 fueht F aneht 3 N7 IS B 3T qAT F S
|

Which of the following pairs of persons are of the same age? / g d o9 W safeaat &
wirEl F 39 TUHE 82

e Mahima and Latha / |fgqT 3i% @ar
e Anitha and Mahima / 3f~yr 3R afgar

¢ Mahima and Rajan / HfgHT 3T &

(7)



e None of these / 578 ¥ ®I5 gl
Correct Answer :-None of these / 38 § ®I3 gl
17)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / 98 fawe ﬂﬁl'q,\_rﬁ e Gl
AT e FIa=T

If you are strong, then you can win the boxing match. /tr%mw%',aﬁ MY TR 8
I Siid I&d g

e If you are not strong, then you cannot win a boxing match. /ﬂﬁmmﬂﬁﬁ @
3ATT TR & Y 11 Siid TDhd |

e If you are strong, then you can win the boxing match. /U%GWHW%', GIREIL
SifRIT 8 I oftd I B

e If you cannot win the boxing match, then you are not strong. /ﬂﬁmﬁiﬁ@iﬂﬁiﬁ
TEY Sia I&d g, 1 3 drhaaR T8l 81

e If you can win the boxing match, then you are strong. / af¢ 37 TR 8= Sfid & &,
4l 39 dThaaR gl

Correct Answer :-If you cannot win the boxing match, then you are not strong. /afe

3T TR A B AE] Sitd Tpd &, ol 3T dipdas el ¢l
18)

Question Stimulus :-

Which one of these is not a part of Jeevan Rakshak Padhak series of awards? / E:I'el I P AT RIPIR Sirae &

UG YA BT [T 71 o2
e Sarvottam Jeevan Raksh Padhak / Taiw# Siiae & ues
e Jeevan Raksh Padhak / STTa- Y&T UGH
e Uttam Jeevan Raksh Padhak / 3TH SHa- I&T UgdH
® Sarva Jeevan Raksh Padhak / I SiTa-T Y& Ugedh

Correct Answer :-Sarva Jeevan Raksh Padhak / '\‘Iﬁ\_rﬂaq?&ﬂ b

19)

Question Stimulus :-

(8)



Raj wants to become a member of a club. The various membership options are as follow: /
IS TH 769 BT TP Ae® g1 drgan & | Al Joxar & fowen 59 voR &:

A - Initial payment: Rs. 10000, annual fee: Rs. 1000 / A - 3RfY® YTdHE: 10000 IUY, qI®
I[P: 1000 IUY

B - Initial payment: Rs. 5000, Monthly fee: Rs. 100 / B - 3RfHY® YTaH: 5000 IUL, ATR®
Y[e®: 100 3T

C - Life time membership fee: Rs. 20000 (Includes membership for all family members) /

C - Silaq 9R TSdT Yedb: 20000 IUA (URAR & Jt Gexal & forg wgwan +ff =nfia 8)

If Raj wants to become a member for 5 years, which plan should he opt for? /uﬁ R[5 w%mwmmm‘m
2, 1 39 5 fawe &) g anfee?

® FEitherAorB/AYIB

Correct Answer :-B

20)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe qﬁm
o fow T HuY wd Frewef & TR o W g1

Statements: / PYH:

Some doctors are artists / PO SIdeY FATHR §

All artists are engineers / I FATHR SONR &
Conclusions: / e

I. Some doctors are engineers / I. $9 ﬁﬁ?ﬁﬁ'ﬂ? %’

II. All doctors are engineers / II. 4l Sigex SoiifAR &
® Only conclusion I follows / Fad foreey 1 fAeaar %
® Only conclusion Il follows / Fad ey 1 e %
® Both conclusion | and Il follows /?ﬂﬁf ﬁfﬁﬂf I Gﬁ? II frred %
® None of the conclusion | or Il follows /ﬁm?sf IFTIIHA ﬁé qﬁ IECANGI %

©)



Correct Answer :-Only conclusion I follows / Fad ey 1 AT %

21)

Question Stimulus :-

The capital of Holkars under Devi Ahilya Bai was ./ é?:ﬁ GI'%FQT TSI'I'E;F » 3'l_c|T|_rf W W IS
Uil

Ujjain / =i
® Omkareshwar / W’}R’
Indore / S_ca?

Maheshwar / 'IT%‘H?

Correct Answer :-Maheshwar / TI%’H?

22)

Question Stimulus :-

The Basdeva c%mmunity of singers are from / TP &1 I¥¢d TYG™
q

® Bhagelkhand / TGS
® Bundelkhand / w

® Malwa / 9Tddl

® Nimar / FER

Correct Answer :-Bhagelkhand / THOES

23)
Question Stimulus :-

Which is not the work of Kalidasa? / ﬁT'I' 1 WIT-f, aﬂm Dl qu?f %?

® Abhijinashakuntalam / SIfUSITH JMH~Tadq
* Milinda Panho / e gusg

* Meghdoota / ﬁ'ﬂgﬂ
® Malavikagnimitram / 'H'I?I'ﬁﬁ?mﬁt[

(10)



Correct Answer :-Milinda Panho / ffegusg

24)
Question Stimulus :-

How many letters are immediately preceg:led by a numbgr and but not folloyved by a symbol
in the following sequence? / ¥ 3FH ¥, fFaa T 3R & PP S ugd T T=T 3ian §, Afp
3 91g TP Weltd Tl 3mar 82

SR7WB8<+?Q34Y7ATIN@EZL>2de*HA&KP9I?#Y#YSR7W5G6SPI?G6hASPI?#HY
6
e 8
e 5
° 4
Correct Answer :-6
25)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faee g&ﬂ'{,ﬁﬁ' Tb DI T
AT e Fau= 3 :

It is not True that both Ram and Shyam are singers. / wwqﬁ%ﬁ;m 3R v St Bl
Mg 1

® Ram is a singer and Shyam is not a singer / ITH W%Gﬁ?m WH’Q%I

* Ram is not a singer and Shyam is a singer / ITH MU 6l & 3N a9 Ma® gl

e Ram is not a singer and Shyam is not a singer / M MYF 61 & SR T TP 81 B
* Ram is not a singer or Shyam is not a singer / WW?@’T%HTW WH%T%I

Correct Answer :-Ram is not a singer or Shyam is not a singer / IH S &1 € 9T TTH
TS T8l 8l

26)

Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

attheright? / GRE IR IR W Apla H A F W T d U vis P wmar g, A P feeai d @
®H A fapea ¥ was il iR fewmd T wae & fauwdia 32

(11)



A\

Correct Answer :-

27)
Question Stimulus :-

The first Indian to reach World No. 1 ranking in women’s badminton is / afgal

Jsfiies # faxg dev 1 I W ug=H arell el yRd &
® Jwala Gutta/ SATeT I*IT

e Joshna Chinnappa/ STT=HT fraram

® Saina Nehwal/ dTSTl ﬁ'&'ﬂ'l?f

e PV Sindhw W af fR=y
Correct Answer :-Saina Nehwal/ 9781 Agard
28)

Question Stimulus :-

This astrophysicist won the Nobel prize for his theory on collapsing of stars. / T g ma fagm=it 4 i &
e R A RNrgia & o i R R siiar|

® Abhas Mitra / 3ITHTH ILE]
(12)



® Meghnad Saha / AYHATE TTET

® Vikram Sarabhai / ICER] ﬂmiﬂg

® Subramanyam Chandrashekar / JIHUIH EERIEGH
Correct Answer :-Subramanyam Chandrashekar / JTHUIH TERER
29)

Question Stimulus :-

Which of the following States leads in the production of groundnut in India? / HIRd ¥ fFafafea = 4 9

fpad WaTwet o1 IeTed W gl 82
e Andhra Pradesh / 3{if WGRT
® Gujarat / [oRTd
® Maharashtra / 'FIFRTg

® Rajasthan / ITSTRITA
Correct Answer :-Gujarat / {eIRTd
30)

Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / A uy ﬁ, IR s f&d

T g, Rrd @ fiv foeht v @ 96 € SR STe) Teb 31elT & ST arell JTd S|
e Hand kerchief / FHTA
* Shirt / FHIW
e Jacket / SidE
e Coat / @I

Correct Answer :-Hand kerchief / HTA

31)

Question Stimulus :-

Who was known as ‘Lokamanya’ / @m' ﬁq ﬁ?ﬂﬁ Q?

(13)



® Mahatma Gandhi / HETHT T

® JL Nehru /S Ud 9g&
e BG Tilak / &t it faa®

® MG Ranade /TH St IMETS
Correct Answer :-BG Tilak / 1 St faa®
32)

Question Stimulus :-

CANCELLED

A farmer grows 3 crops in rotation — Rice, wheat and Jowar. Rice is grown between the months June-Nov, wheat
between Feb - July and Jowar between Oct-March. Each crop takes 3 months from sowing to harvesting. At a time only

one crop can be grown. /memﬁ3mm% -dTdd, ﬁﬁ'&ﬁ?ml WTTW
TSR & i, BRadt 3R Sars & S g, Sragar-ATd & S SaR IS Sdl 81 Ul® Bd § gars 9 Hers
& 1T 3 WA 4 &1 U 99U § had U B SIS off Jhell g

If Rice is sown in September, when can A be sown next? / ﬂﬁﬂﬁﬁﬁﬁlﬁ?ﬁ CIRISIGI %’, Tl AT TR A BF 91T
ST T 82

® January next year / 3RTA AT ST-a3t &

® June next year / GI"T?[W\_IEI"ﬁ

® March next year / am?r;n?rm?fﬁ

® April next year / 3T TS 3% |
Correct Answer :-june next year / 3RTdl ITA 7 H
33)

Question Stimulus :-

Reserve Bank of India is charged with the responsibility of managing the / fyord 3 sife Eﬁ'ﬂT Al W%Wﬂqaﬁ
Forerst @ gurfa forar mar 81

» Fiscal Policy / moim ifa
° MonetaryPoIicy/‘ﬁ%:ﬂﬁf

® Annual Budget / aTiY e 3TT-Tg®H

® None of the above /Eﬁﬁﬁﬁg:ﬁﬁl

(14)



Correct Answer :-Monetary Policy / Aifee Hifa

34)
Question Stimulus :-

Which article of the Indian Constitution relates to the post of Deputy Prime Minister? / YR Afae &1 ®14

T 3¢ SU UUTH= & Ug A Tafia 82
* Article 74 / 3G 74
* Article 75 / 3/IG 75
* Article 76 / 3G 76
® None of these / 370 & PIS &I

Correct Answer :-None of these / $7H I ﬁé T8l

35)
Question Stimulus :-

Yashodharman’s Pillar of Victory is located in ./ faora & g=nerds w Y T R %I
® Khajuraho / W_Eﬁ'

® Sakhara / HdRIT
* Sondhani / FFYTHT
® Mariadoh / ATIAIGE

Correct Answer :-Sondhani / ST

36)
Question Stimulus :-

Shubha Mugdal sings in this style of music / J[HT &l UG Y el # et %
® Carnatic / i
® Dhrupad / YUc
® Thumri / §TI'\FT
® Hindustani / %ﬁFﬁ

(15)



Correct Answer :-Hindustani / fggarit

37)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the

following options which has a similar kind of relation with the third term. / Frauy ﬁ:, q?ﬁ' a tla & o forddt
THR A B3 "oy 3] o e & 3 9yt ug g e T ug & 91y R ueR #T Id9Y 2|

Sickness: Health :: Happiness : ? / ﬁ"T TRk gﬁﬂ 1 ?
® Medicine / 331%
® Misery / DY
® Comfort / SIRTH
® Sorrow / oMb
Correct Answer :-Sorrow / T&
38)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawea ﬂﬁﬂl{,\_rﬁ ad &I ?'f@
IR RTTWFFHFIUHE :

If you are in beach, then you can see snails. / 3[R Gﬂqw%ﬁﬂﬁwi a3y Y 31 Tpd
gl

e If you are not in beach, then you cannot see snails. /WMW%WWH@T%@[
3ATT TY Tl 3@ 9hd

e If you cannot see snails, then you are not in a beach. / iR mﬁﬁﬂﬁﬁﬁma ar
3T Y% & forae W 81 21

* If you can see snails, then you are in a beach. /Gﬁﬂsﬂqﬁa@'ﬂﬂﬁ Gl Gﬂ'qﬂ'ﬂ's{%
R R

¢ None of the above / BTRﬁTﬁr?ﬁé' FI%’I

Correct Answer :-If you cannot see snails, then you are not in a beach. / 3R 3T iy

T3l 3@ TP €, d) 3T g% & fFIR w8 81

39)

Question Stimulus :-

(16)



P is the brother of the daughter of the brother of Q. How is P related to Q? / P, Q & HTS @I T &T HTE §| P, Q

¥ A wwifiE
® Mother /HT
® Father / fUdT
® Nephew / HellSIl
o son/TA
Correct Answer :-Nephew / Hd ISl

40)
Question Stimulus :-

A, B, C, D and E are five rivers. A is shorter than B but longer than E. C is the longest
and D is a little shorter than B and a little longer than A. Which is the largest river? /A,

g,%oﬁsgv%ﬁﬁ%?g%%ziﬁ@g%wsﬁw%lcmﬁiﬁésﬁvb,sﬁzh@ﬁm%&ﬁ?A
* B
e C
D
* E

Correct Answer :-C

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

(160/4)x3+(45x2)-(90/10)x8)-(49/7)x2=?
« 128
* 130
* 124
* 134

Correct Answer :-124

2)
(17)



Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 9 8 AR vl § @ Y g M ud F die wuE o1 W1 Te 8 82
Mrs Brown

Flat 2

173 Park Road

Johnsonville

Wellington 6004

NEW ZEALAND

(i) Mrs Brown
Flat 2

173 Park Road
Johnsonville
Welington 6004

NEW ZEALAND

(ii) Mrs Brown
Flat 2

173 Park Road
Johnsonville
Wellington 6004

NEW ZEALAND

(iii) Mrs Brown
Flat 2

173 Park Road
Johnsonville
Wellington 6004

NEW ZEALAND

(18)



(iv) Mrs Brown
Flat 2

173 Park Road
Johnsonville
Wellington 6004

NEW ZEALAND

® ii

® jv
Correct Answer :-i
3)

Question Stimulus :-

In a certain code language, ako urep means life sentence, atem asil means lived long, anod asil urep means
life lived well. Which is the word for well in that code language? / Tt @ IS U H, ako urep &1 Faas
2 life sentence, atem asil 1 waed lived long, anod asil urep &1 wawd ¢ life lived well | 3 B8 U H well &

ferg wam <rsq 82

® ako

® urep

®* anod

® asil
Correct Answer :-anod
4)

Question Stimulus :-

A person has to complete a journey in 10 hours. He travels first half of the journey at the rate of 10 km ph and second

half at the rate of 12 km ph find the total journey in kms?/@@%aﬁ'mw 10ﬁ%ﬁ®m‘rﬁ%| ar erg=it
TAT T Ugar et fzwar 10 feft uf ver &t e & ofiv gt st ama 12 foeddy uf ger ot o S @
HYdl 31 $a A feardier § gra #e2

(19)



* 100 kms / 100 fareft

* 120 kms / 120 T3t

e 110 kms /110 f&+t

« 150 kms /150 fHHt
Correct Answer :-110 kms /110 &t
5)

Question Stimulus :-

A man in a train notices that he can count 25 telephone posts in one minute. If they are known to be 50 meters a part.

Then what is the speed ofthetrain?/Eﬁwm%,ﬁwm%%awmﬂm%zsﬁﬁ
R Fopar 21 afe T7 i &t gt 50 Hiex &, Y 1 &t w1ty gl

* 60 km/hr / 60 fopirder

* 72 km/hr /72 fdiser

* 75 km/hr /75 fotdireer

* 66 km/hr / 66 fadi/ger
Correct Answer :-72 km/hr / 72 f&Hi/ger
6)
Question Stimulus :-

75% of 300-60% of 250=? / 300 BT 75% -250 HT 60% =?
® 75
® 80
® 100
® 60
Correct Answer :-75
7)
Question Stimulus :-

Complete the series choosing the missing letter/s: / Rigw &R TAHR STaT Bt [T g

(20)



rraqq _pp _rr_qpppp _r
® ppar
® qprp
® qpgp
® pragp
Correct Answer :=ppgr

8)

Question Stimulus :-

5

The sum of two numbers is 2 of the first number. The second number is what percent of the first? / E.Pf =13 BT
5

TR U WS FT 2 31 g W ugeh &t et ufiwa 22

66%

1
66 - %
z

66 %
Correct Answer :-

9)
Question Stimulus :-

In the sequence shown below, which figure comes next? / = o ™ B ff, 3ATeA anq:ﬁ
HI9 A grfiz

o] I | o8d 280 *o 8
o0 9 ol 1@/ ase Ca0
L] 1@ oes el 1 L 11

(21)



doerdnd
O8O
.es

ol 2
2 1
L4 AW

ase
s
O8O0

Ce0
*8d
aee

ol I
8
eeC

Correct Answer :-

10)
Question Stimulus :-

If BELIEF is coded as EBILFE. How is BANANA coded? / af¢ BELIEF &I EBILFE &
PIfed far 51 8, 9 BANANA &1 &3 ®ifed fbar sar g2

* ANANAB
®* ABANAN
* BANAAN
¢ ANABAN

Correct Answer :-ABANAN

11)
Question Stimulus :-

if P655 x 731 = 3P028Q5 Where P and Q are representing different numerals; What is the value of ‘Q’? / e
P655 x 731 = 3P028Q5 ST&T P 3R q faftrar Tieri® §, &Y ‘' &1 WiF T gRIm?

* 0

(22)



5

* 2
Correct Answer :-0
12)

Question Stimulus :-

How many different six letter words can be formed using the letters of the word ‘LEADER’ if repetition is not allowed? / 'CI'%
%ﬂﬂqﬁ I TE 8, 9 ‘LEADER’ XTeg & 3U&RT BT YANT Hb §e &R & fbar AT 2req o911 =1 wpad
?
® 360
® 480
® 720
® 600
Correct Answer :-360
13)

Question Stimulus :-

A dealer is selling an article with a marked price of Rs.140 at a discount of 5% on the
marked price. Find the cost price if the marked price is 12% above the cost price? / T®

AR Th a¥g B! IUP! fUfed B 1400 IU WR 5% $ Pe W 394l 3 3R fafgd gea arma gea A
12% TG §, d aNTd ged Ul ea?

* Rs./¥Ud 135

* Rs./ ¥4 145

* Rs./¥Ud 105

* Rs. /%03 125

Correct Answer :-Rs. / 3Ud 125

14)

Question Stimulus :-

(23)



If GRASS is coded as 79188 and NEAT is 5316, then GREEN is coded as / ITI% GRASS &1
79188 I HIfSa a1 oI1aT ¥ 8K NEAT &Y 5316 ¥ Hifsd fbar wIrem 8, 9t GREEN &1 T Fifsd foan
ST ¢

e 98335

® 69335

® 19335

® 79335
Correct Answer :-79335
15)

Question Stimulus :-

Select all the two-digits numbers which remain the same when the digits are interchanged.

Find their average. / 3 94l SI-3(% arell IBAmeil BT AT S 31 B ST H1 W JHH T8l 8]
I9@T ofird Rp1ferg|

* 44

® 33

® 55

® 66
Correct Answer :-55
16)
Question Stimulus :-

Complete the series choosing the missing number: / AW BT TAHR G BT TR HIOIT :

121,225,361,
° 441
o 484
* 529
° 729

Correct Answer :-529

(24)



17)
Question Stimulus :-

In throwing of a die. What is the probability of not getting 42 / T UTHT WehT TAT| 4 HAT Ta1 3 & FT U1 8?2
* 1/6
* 5/6
* 1/3
* 4/6
Correct Answer :-5/6

18)

Question Stimulus :-

A and B can do a work in 8 days, A and C can do the same in § days. If A, B and C working together can finish it in 6
days. Then how many days it takes to B and C together to finish it? / A AR frft sm w8 fei d o= 9oa %:,
A 3R ¢ 3 1 F 8 &= # 3 Gdd &1 afe A, B 3R € T T F3d 5T 39 T &I 6 e & Taw #
FHd §1 99 B SR C B TIY §H $ $T Wa¥ S | a1 9974 T2

* 10 days / 10 fe=

e 8days / 8 fdq

* 12days / 12 e

® 6days/ 6 f&a
Correct Answer :-12 days / 12 &9
19)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ'ﬁ &R gAbY YRadT B T Tfﬂﬁl"! : ac_cab _baca_aba _

acac
® aach
® achc
® babb

® bcbb

(25)



Correct Answer :-aacb

20)
Question Stimulus :-

In a certain code language, tip rad an means jam is sweet, rad kot ap means sweet and
sour, mit an kot means curd is sour. Which is the word for curd in that code language? /
frell W HIe W A, tip rad an &1 Hd9d § jam is sweet, rad kot ap &1 Hddd & sweet and sour,

mit an kot &1 HAWd € curd is sour | IH B8 U H curd & T o1 2Ieg 82
® an
®* kot
® mit
* tip
Correct Answer :-mit
21)
Question Stimulus :-

CANCELLED

The sum of (-xyz), (-yzx) and (-3xy) is / (-xyz), (-yzx) 3R (-3xy) ST g
* Xxyz
® 4xyz
® 2xyz
® -3xyz
Correct Answer :--3xyz

22)
Question Stimulus :-

A single discount equal to a discount series of 20% & 25% is .1 20% 3IR 25% @} fexprde HEF‘IT% RIS
ERRINC T IR

® 35%
® 40%

* 45%
(26)



* 60%
Correct Answer :-40%
23)

Question Stimulus :-

If the ratio of the perimeters of two squares is 1:2 then the ratio of their areas is / af¢ al

a7l & gRUTAT ST U 1:2 §, Al 371 &FBdl $T 3Ud &
° 4:5
° 1:4
* 25
* None / IS &l

Correct Answer :-1:4

24)
Question Stimulus :-

In the following qyestipn, one term in the number series is wrong. Find out the wrong
term. / 9 Uy A, 9T 4@ A TP UG T 2| Tad U I B

1,3,5,7,10,11

* 11

Correct Answer :-10

25)
Question Stimulus :-

A fair dice is thrown. What is the probability of getting a multiple of 2? / Q?Fmﬁ?—ch_f AT 2 BT IO 3 & T
HUTGT §2

° 1/4

° 1/3

(27)



® 1/6
e 1/2
Correct Answer :-1/2

26)

Question Stimulus :-

1
A cord of length 71 4+ m has been cut into 26 pieces of equal length. What is the length of
1

gach piece? / W7111ﬂaﬁﬂ:ﬁﬁaﬁwm$zegﬁ’fﬁWW| TS THs DI aTg HT
?

3
22
4
[ ]
3
12
[ ]
3
32
il_
[ ]
3
4=
4_
[ ]
3
22
4

Correct Answer :-

27)

Question Stimulus :-

In a certain code language, iks pir rit means fine march night, het its pir means every summer night, iks ptr mos means
fine for parking. Which is the word for march in that code language? / el @ wis wren ﬁ, iks pir rit BT HIAd %
fine march night, het its pir 1 Hddd % every summer night, iks ptr mos @1 Hddd % fine for parking | Il dis U

H march & TorQ =T Tk B2
® jks
® pir

® it

(28)



® mos
Correct Answer :-rit
28)

Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect combination. / a1 & 11'§ Pre|

3&RY T Tt HT SIHH WA HRel §| Tad Hale Ugan=’|

(i) BA32456789Y4

(ii) BA32456789Y4
(iii) BA32456789V4
(iv) BA32456789Y4

® i

® iii

* iv
Correct Answer :-iii
29)
Question Stimulus :-

Complete the series choosing the missing number: / AW JBT DR STAT BT TR HIOT :

1,9,17,33,_ 73
* 50
* 49
* 45
* 60

Correct Answer :-49

30)

(29)



Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / IBE]

ATFfd B T & o =Aaw @ | fea-t W Yarei @t smazasar ghil?

LN

/

® 15
® 25
e 21
e 27
Correct Answer :-15

Topic:- Science and Simple Arithmetic

1)
Question Stimulus :-

BOD is an indicator of / 3/t sHST HFas §
® Air pollution / dTg UgWUl
® Noise pollution / eafy Ugdul
® Water pollution / S Ugyul

® Soil pollution / H&l UgHUT

Correct Answer :-Water pollution / e Ugyul

2)

Question Stimulus :-

(30)



Phosphorous is a very reactive nonmetal. Which is the liquid in which it needs to be stored to prevent its reaction

with oxygen of air? / BITPIRY TH 3fcdd fparzie 3rurd 81 98 B9 IT %4 8 TP} Srazaddr BiapRg
& IUg # usdl g Forad fr saat iR 9y & SiTRite & Srfuferar &Y I oI 92

* Dilute Hydrochloric acid / TJFd gTSSIFIN® 37

® Water /SId
® Kerosene /ﬁl@ P dd
* Dilute Acetic acid / TIPd VATCH 37

Correct Answer :-Water / 9Td

3)
Question Stimulus :-
CANCELLED

Answer the following questions based on the following graph given below. The
graph represents the annual sale of the two types of Refrigerators, Whirlpool
and Samsung, (in thousands) from the year 1995 to 2000. / R T 7T 1% & MR
R Fafafaa gt &1 3w el 3 umw af 1995 & 2000 TF & YR & IboResl, TAY 3R AHT P
aiife et & uelRia @war 81 (svRi #)

Sale of 2 types of refevegerators (whirlpool and
samsung by viveks gver the vears in thonsands

150 =
160 4
140 -
MNumler of 120

vefericerators
in thousands 100 7

80 4
60
40 4

= B Whirlpoal
& Samsnng

20 -

D L] .| ] L] L] L}

1995 1996 1997 1995 1999 1000
YEARS
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The sale of Samsung Refrigerators in 1988 was approximately what per cent of Whirlpool Refrigerators in the same

year? / T¥ 1988 W FHT Ihoex HI famt ST 9 # ey fpoex ot faspt o1 1 ufawma d@e

® 140
® 30

® 122
® 162

Correct Answer :-162

4)

Question Stimulus :-

If 102102=03010  the value of

B
e 0.3241
* 0.6911
® 0.6990
® (0.7525

Correct Answer :-0.6990

5)

Question Stimulus :-

log 1,3

Ly

log 1
=0.3010 |y Y wTuE

[

is_____/afe log

L]

A Synthetic fiber made up of the repeating units of a chemical called amide is / TiRae T'l'g' S Udb AP § DY
TRIGd! AT & 9497 § SR THISS Heardl 8,98 8

Rayon / Y3
Polyester / ﬁ'c"ﬂ'Q'E?
Nylon / =r|".§?ﬁ=r
Acrylic / miﬁ

Correct Answer :-Nylon / ATS@F

6)

Question Stimulus :-

(32)



During heavy exercise, we get cramps in the legs due to the accumulation of / s AT & T:,‘:ﬁ'F[, Eﬂﬁ' WY
H T 8 WTdl 8, 39 SHTd & BIRO -

« Carbon dioxide / ®Ta STS3ATHIES
e Alcohol / T&hIgId

® |Lactic acid / dfacd et
® Water / STd

Correct Answer :-Lactic acid / dfdc® 3

7)
Question Stimulus :-

CANCELLED

Answer the following questions based on the following graph given below. The graph
represents the annual sale of the two types of Refrigerators, Whirlpool and Samsung, (in
thousands) from the year 1995 to 2000. / <& f3€ T8 3% & MR W Fgfrad vyl &1 3<R
SifSe1 T 71w af 1995 T 2000 TF & YPR & IhoiResl, Foqd iR TAHT P aiife [T &1 uekfa

P 21 (IR )

Sale of 2 types of refevegerators {whixlpoel and
samsung by viveks gver the vears in thousands

Mumber of
vefericerators
m thonsands

W vwalpoeol
& Samsung

40 -
20
0 — , — .
1995 1996 1997 1993 1999 12000
YEARS
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What was the difference in sales of number of Samsung Refrigerators between 1988 and 1989? / Iy 1988 'QH 1989 H

AT bR &1 fAw &t T=a & T SR U
e 20,000
® 2,00,000
® 2,000
e 40,000
Correct Answer :-40,000
8)

Question Stimulus :-

A and B start a business with an initial investment in the ratio 12 : 7 and their
annual profits were in the ratio 4 : 3. If ‘A’ invested the money for 7 months,
then B invested his money for: / A Td B 9 12:7 & U ¥ RIS 4% 9 T ATUR &1

ST B T IABT AMYD ATH BT U 4:3 AT T A 7 AR H1 7 7 & fore o= fovan, ot B A iy
ot fva Agl & forg Frawr fosa:

* 8 months/ 8 ﬂ'(ﬂﬁ
® 10 months / 10'H'Eﬂﬁ

®* 9months/ 9 'Flﬁﬁ
® 5months /5 'Flﬁﬁ'

Correct Answer :-9 months / 9 HgH

9)
Question Stimulus :-

An angle whose measure is more than 180° is called a / G P1v1 forgeT uRATur 18009 SR %
el &

® Straight angle / Y] HI0T
® Right angle / 9H P07

® Acute angle / <1 I

® Obtuse angle / 3if¥re ST

Correct Answer :-Straight angle / 9 ®IUT
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10)
Question Stimulus :-

P is an external point to the circle with centre O and radius ‘'r’. PQ, PR are two
tangents from P to the circle. Which of the following statement is true? /

0 %% d r FisT 9Tt 9d & a6 TP fig P ® U1 PQ, PR fig P | gd wR 31 wuxf Y € <t Fg
TAPT AT PYTTA S ?

®* PQ=PR
 PQL1PR
* PQ||PR
° PQ=QR
Correct Answer :-PQ=PR

11)

Question Stimulus :-
Deforestation is the major cause of/T:F'ﬁ:ﬁT'F'T E:Iﬁ ¥ foasr Y HIRUT GE;

* Decrease in the amount of CO5 in the atmosphere / TEIERUI § CO, &1 HET A HHI
* Increase in the amount of CO5 in the atmosphere / dEIERY § CO, & AET # gix

® Decrease in soil erosion / {ql UG d Bt
® Increase in flora and fauna /m?ﬁ Q?:T \_rﬁa\_tlﬂ o ?{@

Correct Answer :-Increase in the amount of CO5 in the atmosphere / AR § CO, Ht AET
9 gfs

12)

Question Stimulus :-

What will be the chromosome configuration of a girl? / Fl'ga% DT TUrgA fo=am & E-TTIT?
® 22 pairs + XY /22 YH + XY
® 23 pairs + XX /23 JH + XX
® 22 pairs + XX / 22 JH + XX

® 23 pairs+ XX /23 J¥H + XX

(35)



Correct Answer :-22 pairs + XX / 22 g¥H + XX

13)

Question Stimulus :-

Find the circumference of a circle of diameter 14 cm. / 39 9 CAR IR id ﬁ'ﬁl’[{ foraeT sa 14 I %I
e 88 cm /88 I
* 22cm/229H
® 44cm /449

® 308 cm /308 JHI
Correct Answer :-44 cm / 44 9H}
14)

Question Stimulus :-

The mountaineers suffer from nose bleeding at high altitudes because / uﬂmﬁé’r S WM R AT6 A IFI-U1d
W I g § e

® The atmospheric pressure is much less than our blood pressure / W@?ﬂ'ﬂ CERLINRES B ] LKL i)
HTH] $H BIdT ©

® The atmospheric pressure is much higher than our blood pressure / a'rgms?ﬂu qld ETIﬁ' IFIATY B GEEL
o wrwt i a1 3

® The atmospheric pressure is almost equal to our blood pressure / HTQTIW qld G'Flﬁ' TGAETY & T

GEIERICIR

® The atmospheric pressure has nothing to do with blood pressure / mgns—cﬂtr FEEZEESEIN & 1Y aﬁ's‘

HaY 81 8

Correct Answer :-The atmospheric pressure is much less than our blood pressure / HTQTISFﬂTI qld Eﬂ'ﬁ'
TFIATY Bt goT o HTHT S g 3

15)

Question Stimulus :-

The minimum value sec Y can take when Y is an acute angle is /9 F W'UT
8, sec ¢ &1 frgaw A foran < T 2]

® 0

* 1
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Correct Answer :-1

16)
Question Stimulus :-

CANCELLED

Answer the following questions based on the following graph given below. The graph
represents the annual sale of the two types of Refrigerators, Whirlpool and Samsung, (in
thousands) from the year 1995 to 2000. / 1 fou 7€ w1w ¥ nyrR W FufiREd vl @1 3w
&S| 3w 9 1995 | 2000 TF & THR P Ipoesl, T SR AT B aife Rt #) welkia

P12l (BRI )

Sale of 2 types of referegerators {whixlpool and
samsung by viveks gver the vears in thonsands

150 1

160

140 +
Mumbler of 120
refericerators

in thonsands 100 7

M- Walpoeol

a0 4 | & Samsung
Gl =
40 4
204
D L] | ] L} ] L}
1995 1996 1997 1995 1999 1000
YEARS

What was the approximate percentage drop in sale of Whirlpool Refrigerators from 1987 to 1988? / 1987 Y 1988 TP

TAYA horex 31 faswt § RRae &1 ufa=ra TRt wim ot
® 60
® 50

* 40
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e 35
Correct Answer :-40
17)

Question Stimulus :-

The square root of 19-36 is / 19-36 BT & qa ST |

o 4-4
* 4-44
® 4.6
e 4-14
Correct Answer :-4-4

18)

Question Stimulus :-

Birds that lay eggs are / 38 & greil Ufgrl & =T Hgd &2
® Ovo viviparous / STSTSRTYS
® Viviparous / CIRTgSl
® Oviparous / 3fgol
* Egg laying / 3 e
Correct Answer :-Oviparous / 38l
19)

Question Stimulus :-

Which of the following statement is wrong about Vaccine / aaafﬁ? % aﬂ' ﬁ' ﬁ'ﬂ' ﬁ' ﬁ ﬁﬁq T PYH 3 ™ %

® Vaccines are dead or weakened microbes of different diseases /aa'\‘ﬂ:l' fafis 3 & qJa g1 PUCR

® When vaccines are introduced in a healthy body, it produces antibodies / STd ¥ TR A IR B

WA BT 2, IE Tlare! S HaT &

® Vaccine is general or same for all diseases / It A & ﬁﬂl{ SR I 91 99 @ﬁ %

(38)



® Vaccination makes the person healthier, by preventing diseases / I B AHYT ERI
FBTH TR B TR T §

Correct Answer :-Vaccine is general or same for all diseases / I I & forw a=Ri= 9@=

T A 81 &

20)
Question Stimulus :-

Which part of digestive canal is involved in killing the bacteria? / ST6¥ ATd &I I T YT \_rﬁaT[[[ & ARA A
M et 82

® Stomach / HIRI™

® Teeth/ E'IT'T

® OQOesophagus /"/Tﬁlﬂﬂ

® Duodenum/ fsanfs=w

Correct Answer :-Stomach / 3[HTR

21)
Question Stimulus :-

Answer the following questions based on the following graph given below. The
graph represents the annual sale of the two types of Refrigerators, Whirlpool
and Samsung, (in thousands) from the year 1995 to 2000. / R feu T e &
YR IR fFaferr@a usl &1 3w &) & urw af 1995 A 2000 TF & UHR F Ihoes,

TAYA 3R AHET BT aifep farspl oY yelRia Har 81 (g9R #)
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Hale of 2 bypes of refevecarators (whirlpool and
¥] 4 ) it
samsung by viveks gver the vears in thonsands

150 -

160

140 < L\
Mamber of 120

veferigerators

in (lousands 100 7 ’ M- Walpeol
a0 1 & Samsung
60 o
40

'H:)-

D L3 L] ) L] L} |

1995 1996 1997 1995 1999 1000
YEARS

In which of the following years was the percentage increase in sales of
Samsung refrigerators exactly 30 over the previous year? / g # 9 &9 ad & Juaw
Ifporex #1 fawl & fUoa ad ot fow! ¥ 30 ufaxa ot 9fS §32

® 1997
® 1999
® 2000
® 1998

Correct Answer :-1998

22)
Question Stimulus :-

The amount of Rs. 7,500 at compound interest at 4% per annum for 2 years, is: / 7,500 I B TI'QT, 2 991 & ﬁ'I'E[
ufa af 4% Twafs 9 W, ©:

® Rs. 8,100
® Rs. 8,082
® Rs. 8,112

® Rs. 7,800
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Correct Answer :-Rs. 8,112

23)
Question Stimulus :-

Increase in the amount of CO; in the atmosphere would lead to / IgHSA # CO, 3T aET | q@
W 38 I 1§ AT 82

® Depletion of Ozone layer / SIS ORd T 3(@er
® Green house effect / 9 889 U@
® Soil erosion / Jal 3UIg"
® Drought / ™I
Correct Answer :-Green house effect / ¥9 889 UHIE

24)
Question Stimulus :-

Find the area of the parallelogram given in the following figure, if PS = 10 km,
PQ = 5 km and QL = 4 km / R fou ¢ fo & wHiaR agys &7 8w wid i, afe Ps = 10
f&dl, PQ = 5 fF#t 3k QL = 4 faeil B

f.! B

r-_r"l N \

® 40 km?2 / 40 fo&} 2
e 50 km? /50 fdt 2
o 20 km? /20 fdt 2

e 30 km? /30 fpeY 2
Correct Answer :-40 km2 / 40 f&t 2
25)

Question Stimulus :-

Answer the following questions based on the following graph given below. The graph
represents the annual sale of the two types of Refrigerators, Whirlpool and Sar_nsung, (in
thousands) from the year 1995 to 2000. / <12 23U 7¢ I1% & R W FRufeafad vyl &1 3w
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difSg| 3 U 9¥ 1995 F 2000 TF & UHR F Iboesl, FAEYA R AT B a1 fawt #1 yeRkia
a1 21 (BRI )

Sale of I tbypes of referegerators {(whirlpool amd

samsung by viveks gver the vears in thonsands

150 =

160 4

140 -

Numbier of 120 4

vefericerators
in thousands 100 7

- Whirlpoal

801 —A— Samsnng
o0 -
40 4
20
¥ T T T T ¥ 1
1995 1996 1997 1995 1999 1000

YEARS

In which of the following years were the total sales of both Whirlpool and Samsung together, the maximum? /ﬁ'H 79

fora adf & Q1 Wpoe™ Teiqe iR AUHT F1 Wy fowpt siftrpaw i
* 199
* 2000
* 1999
e 1997
Correct Answer :-2000
26)

Question Stimulus :-

Friction depends on the / oy R S % z
® Nature of the material / T&Id @I Wﬁﬁf W

® Nature of the surface / U§ G| Wﬁf R

(42)



® Surface volume / qg% SAd UR

® Atmospheric pressure / W@?ﬂ'ﬂ old I}

Correct Answer :-Nature of the surface / I8 @I Ypid W

27)
Question Stimulus :-

If the car is moving in the North-East direction, the direction of the frictional force will be

/ afe TEY SR-gdf ez A v & ], o wlf v@ #Y R=w gwht

North-South / STR-CI&0T

North-West / IIR-UfyH

South—East / E'f?zI'UT-W
South-West / Ef?.‘I'UT-qfﬁ'q

Correct Answer :-South-West / SI&fOT-uf3

28)
Question Stimulus :-

How many prime numbers are there between 20 and 50? / 20 3R 50 ¥ o fpast err =Y %'?

Correct Answer :-7

29)

Question Stimulus :-

Crops grown from October to March are known as / 3{dgdR ¥ ATd aF I arell BH Sl Sdl @
* Winter crops / Xa®c{ BId
® Summer crops / ATSHETeN e

® Rabi crops /QTSﬁ B BOd
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® Kharif crops /TP D BId
Correct Answer :-Rabi crops / Tl & oA
30)

Question Stimulus :-

Ultrasonics are / URTHH E"Tel' T T %?
* Electromagnetic waves / fagaagq@® g a3
® Sound waves of frequency higher than 20 Hz / 20 E'(.fTrl T 3rfY®w Gﬂqﬁf arelt eafy a3
® Sound waves lower than 20 Hz / 20 Béﬁ q HH anqﬁr arall eafsr a3
® Sound waves of frequency above 20,000 Hz / 20,000 3?.‘77[ Jq FWR B Gfﬁﬁf arelt gfy a3

Correct Answer :-Sound waves of frequency above 20,000 Hz / 20,000 E'é\_rl J FWR I 3|T§ﬁl arenl tafy
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